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1.

The Yerkes Dodson law states that :

(A) performance is a function of
ability multiplied by motivation

(B) to obtain optimal performance
high emotional arousal is the
most appropriate for relatively
simple tasks

(C) the third and final stage of
general adaptation syndrome
(in stress) is exhaustion

(D) autonomic nervous system
works both as activating and
controlling system

What is the sequence of stages of
General Adaptation syndrome (GAS)
to stress ?

(A) alarm, fight, equilibrium
(B) alarm, arousal, exhaustion

(C) alarm, resistance, exhaustion

(D) arousal, approach, satisfaction
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Which of the following psychologist’s
theory is the basis for the well
known personality test MBTI ?

(A) Sigmund Freud

(B) Raymond Cattell

(C) Carl Jung

(D) James McKeen Cattell

The way to make punishment more

effective is :

1. that punishment should
immediately follow the

behaviour it is meant to punish

2. using an aggressive type of

punishment such as spanking

3. that punishment should be

consistent

4. punishment by removal of

favorite object
(A) 1 and 2
(B) 3 and 4
(C) 1 and 3

(D) 2 and 4
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Two most basic units of speech

are :

(A) Words and rules of grammar

(B) Ideas and concepts

(C) Morphemes and phonemes

(D) Connotative and denotative
meaning

Information that is not transferred

from sensory to short term memory

or from short term to long term

memory is :

(A) forgotten for ever

(B) available for short duration

(C) can be retrieved back with
efforts within few hours

(D) can be retrieved back if efforts
are done immediately

In his well-known model of

intelligence in the dimension of

content, Guilford has included :

1. figural

2. relational

3. symbolic

4. memory

(A) 1, 2 and 3 only

(B) 2, 3 and 4 only

(C) 1 and 3 only

(D) 2 and 4 only
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According to Eysenck’s biologically

based personality theory.

Extraversion is directly related to :
(A) Sympathetic Nervous System
(B) Peripheral Nervous System

(C) Parasympathetic Nervous

System
(D) Central Nervous System

Spearman C.E.B. is known for his

work on :

1. fundamental ideas of factor

analysis
2. two factor theory of intelligence

3. individual group factors of

intelligence
4. rank correlation
(A) 1, 2 and 4 only
(B) 2, 3 and 4 only
(C) 1 and 2 only

(D) All of the above
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10. Match List I with List IT and select

11.

the correct answer using the codes
given below the lists :

List I List 11
(Research Method) (Weakness)

P. Casestudy 1. Findings may not be
fully generalizable to

real life

Q. Experimental 2. Participants’

Method responses can be

influenced by socially
desirable answers

R. Observation 3. Not suitable to study

a very large number

of subjects

S. Survey 4. Inferences can be
unreliable due to
bias of the data
collector

Codes :

(A) P-1 Q-3 R-4 S-2

(B) P-3 Q1 R-2 S-4

(C) P-1 Q-3 R-2 S-4

D) P-3 Q1 R4 S-2

On a particular psychological test
with norms in terms of T scores
(mean = 50, SD = 10), a subject had
a T score of 40. What would be his/
her percentile rank ?

(A) 16 B) 34
(C) 56 D) 84
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12.

13.

Eidetic memory can store :
(A) vivid visual images

(B) vivid visual and auditory

images

(C) visual, auditory and tactile

sensations

(D) visual images with exact

semantic association

Rensink’s coherence theory can
explain change blindness using the

following sequence of events.

1. Unstable

extending across visual field

representations

2. Newer stimuli at same location

take their place

3. Focussed attention produces
detailed

impression of one object

and longlasting

4. When focussed attention

removed from object,

representation disintegrates

and returns to pre-focus stage
Correct sequence :
A 3,4, 2,1
B) 4, 3,1, 2
O 1, 2 3,4
D) 2,1, 4,3
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14.

15.

Match List I with List II and

indicate your answer using the codes
given below the lists :

List I List IT
(Personality (Measuring
Dimension) instrument)

P. Opennessto 1. EPQ-R
experience

Q. Psychoticism 2. TAT

R. Anxiety 3. NEO-PI-R

S. Achievement 4. STAI
motivation

Codes :

(B)

(C)

(D) 3 1
Match the terms related to attention
with their descriptions, from the two
lists :

P Q
(A) 1 3
3 1
1 3

= B NN
NN T

List I List IT

(Attention related (Description)
terms)

P.  Selective 1. Search for combinations
attention of features and missing

features

Q. Divided 2. Concentration  of

attention mental activity

R. Spontaneous 3. Multiple stimuli with

attention instructions to attend
to all
S.  Focussed 4. Response to one
attention among multiple
stimuli

A P-1 Q2 R4 S3
B) P4 Q3 R2 S-1
(C© P2 Q1 R3 S4
M) P33 Q4 R1 S2
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16.

17.

18.

Delay of free recall filled with some
mental activity :

(A) decreases recency but not

primacy

(B) decreases primacy but not

recency

(C) decreases both primacy and

recency

(D) improves performance of middle

part of list

Information-processing theory
includes :

1. perception and learning
2. attention and thinking
3. meaning and perception
4. thinking and learning
(A) 1 and 2 only

B) 1, 2, 3 and 4

(C) 3 and 4 only

(D) 4 only

Fluency, Flexibility and Originality
would be the most characteristic of
which type of thought ?

(A) Convergent thinking
(B) Mechanical thinking
(C) Rote problem solving

(D) Divergent thinking
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17.

18.
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19. Stages of problems solving are :

(A) Preparation, incubation and

illumination

(B) Incubation, preparation and

hypothesis

(C) Preparation, illumination and

incubation

(D) Incubation, illumination and

production

20. Short term memory :

1. retains new information for

brief time

2. holds information retrieved

from long term memory

3. provides mental scratchpad

4. carries out tasks
(A) 1, 2 and 4 only
(B) 1, 3 and 4 only
(C) 2, 3 and 4 only
(D) all of the above

21. The opponent-process theory of

motivation takes :

(A) a hedonistic view of motivation
(B) a view that behaviour is pushed
towards goal by driving states

within the person

(C) aview that the goal objects pull

behaviour towards them

(D) a view that motives are

composed of emotions, arousal

and thinking

19.

20.

21.
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22.

23.

24.

Prosopagnosia is the loss of :
(A) depth perception

(B) colour perception

(C) face recognition

(D) size judgement

Berry’s model of contexts of

intelligence includes :
(A) Biological and social context

(B) cognitive and phenomenal

context

(©)

cognitive, social and genetic

context

(D) performance, experiential and

ecological context

In hierarchical theory of intelligence,

top of the pyramid is :

(A) G or general intelligence
(B) S or specific abilities

(C) Primary mental abilities

(D) Creativity
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25.

26.

27.

Which of the following terms is
closely associated with achievement

motivation ?

(A) Fear of failure

(B) Attractiveness of reward
(C) Self-actualization

(D) Bounded rationality

“Big Five” theory of personality
represents which of the following

approaches ?

(A) Nomothetic

(B) Ideographic

(C) Longitudinal

(D) Psychographic

Which one of the following best

explains why stress increases a
person’s vulnerability to infections

by bacteria and viruses ?

(A) It reduces the activity level of

a person

(B) It reduces the number of white

blood cells

(C) It speeds up hardening of the

arteries

(D) It triggers a release of digestive

acids
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28.

29.

30.

To make punishment most effective,
it should be :

(A) very intense

(B) applied every other time the bad

behaviour occurs

(C) an aggressive type, such as

spanking

(D) paired with reinforcement of the

correct behaviour

When one conditioned stimulus is
used to create another, it is called :

(A) forward conditioning

(B) chaining

(C) higher-order conditioning
(D) shaping

Rorschach test can be administered
using the following sequence :

1. Measurement of total time

2. Measurement of reaction time
3. Enquiry

4. Free association

Correct sequence is :

A 1, 2, 3,4

(B) 4, 3,2, 1

© 2,1, 4,3

D) 4,2, 1,3
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Questions 31 to 33 : Read the
following paragraph and answer the

questions below it.

Paragraph A researcher
hypothesized that there is no
association between the faculty to
which the student belongs and his/
her communication skills. A random
sample of 400 students from three
faculties—Arts, Science and
Commerce was drawn. Each student
was assessed on the communication
skills and was classified into three
categories—with poor communication
skills, with adequate communication
skills, and with excellent
communication skills. The 3 x 3
contingency table was formed and
analyzed by the chi-square test. The

chi-square value turned out to be
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32.

33.

In one of the cell of the above
contingency table, the obtained and
expected frequencies were 50 and 40
respectively. What would be the
contribution of this cell towards the

total chi-square value ?
(A) 2.00
(B) 2.50
(C) 6.25
(D) 10.00

From the above data, it can be

concluded that the :

(A) researcher’s hypothesis is

verified

(B) researcher’s hypothesis is

partially verified

(C) researcher’s hypothesis is

rejected

(D) insufficient data for verifying

researcher’s hypothesis

32.

33.
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Questions 34 to 37 : In the
following questions, each question
has two statement-—Assertion (A)
and Reason (R). Read each question
carefully and decide whether
Assertion and Reason are
individually correct or not, and if
they are correct, whether the Reason
is a valid explanation of the
Assertion. For each question, before
the corresponding question number,
indicate your answer using the

following codes :

(A) Both A and R are true and R

is the correct explanation of A

(B) Both A and R are true but R

is NOT the correct explanation
(C) A is true but R is false

(D) A is false but R is true
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35.

36.

Assertion (A) : In case of visual
sensory memory even when
exposure time increases from 50
milliseconds to 500 milliseconds,

performance in whole report method

does not increase.

Reason (R) : Information loss takes
place in sensory memory by the time

individual reports first few letters.

Assertion (A) : Larger group
differences in performance are found
in case of performance and other

nonverbal intelligence tests than

verbal intelligence tests.

Reason (R) : Non-language tests
may be more culturally loaded than

language based intelligence tests.

35.

36.
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37. Assertion (A)

38.

39.

: Usually, state
anxiety scores, as compared to trait
anxiety scores, have less test-retest

reliability.

Reason (R) : State anxiety usually

fluctuates over time.

The following techniques can be used

to study function in a living human

brain :

1. Functional Magnetic Resonance
Imaging

2. Ablation and Lessoning

3. Stereotaxic procedures

4. Computerized tomography

(A)

(B)

C)

(D) 1 and 3 only

1 and 4 only
2, 3 and 4 only
1, 3 and 4 only

Analytical thinking :
(A) means breaking down a

problem into identifiable units
(B) must lead to a proper decision

(C) follows creativity
(D) follows problem solving

37.

38.

39.
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oY

ST (R) : 3Taee ol 2 dedioled! siqesd
3TE.

Seq dgel foran TwmeuaEel oo
RE-GiicIC T ARG

1. TRMG YAl EH- ST

2. oferM Ue d=fm

3. WiRelfrms Tefegsiyg

4. HIFHIUHS HUTH

Ik I e

(A) 1 3 4 e

(B) 2,3 31U 4 ®e

(C) 1,3 &Afr 4 w

(D) 1 0 3 e

forowTTHS foqd dfsan =/oS
(A) THEE HATBEdl YIS WHT hol
(B) g fofamya v aifest

(C) GSHIHSKAHNH Ad

(D) 9HE HHIEEMEA Ad
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40. Match List I with List IT and answer
using the code given below :
List I List II
(Concept) (Theorists associated)
P. Aggressive 1. Miller and Dollard
Instinct

Q. Needs hierarchy 2. Freud

R. Achievement 3. Maslow

motivation

S.  Frustration 4. McClelland
aggression hypothesis

Codes :

A P2 Q3 R1 S4

B) P3 Q2 R-1 S4

©) P3 Q2 R4 S-1

M P2 Q3 R4 S-1

NOV -13211/11

40. R 19 Gt 11 A=A SN e for

@ioie Hohad arged Sw foer

w1
(FehReaT)
P. 3ThH%
HEST
Q. TR syt
R. HuEd 9on
S.  Shed-STRAT
ST
Hehd
(A) P2 Q3
(B) P-3 Q2
(0] P-3 Q-2
D) P2 Q3

i

(31TTHh)

1. faex snfor

<fere

~

4. HEH FOOS

R-4

S-1
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41. In brain imaging by PET :

1. positrons emitted by a
radioactive substance are

captured by a scanner

2. the more active a brain area is,

the more is the substance

absorbed

3. radioactive substance is injected

into the bloodstream

4. color coded image is formed
with red showing greatest
activity followed by yellow,
green then blue

Indicate the correct sequence :

A 1, 2, 3, 4

B) 3,

C) 4,

D) 3,

NOV -13211/11

41. PET d&IH 99-3AFSET hiaqm

1.

2.

3.

4.

featfes vamefigh Safiia difserTet
ThHes g B

T S faum s framiie ste,
a9 S were foral

AeeTdfress TeTel YegR oM @O
Hal Sl

T TAeRid o1& fost fior 8, s

A WU Tdid fshamiis, 7 fyae,

T fewen snfor e WA e
Uferan <o

AT HY Al

A) 1,

B) 3,

C) 4,

D) 3,
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42. Reliability indicates the ratio :

43.

(A) True variance/Error variance

(B) Observed variance/Error
variance

(C) True variance/Observed
variance

(D) Observed variance/True
variance

A beam is passed through a thin
slice of tissue into photographic film.
Different parts of the tissue block or
pass the beam to a different degree,
and an image is produced. This

describes the working of :

(A) a laboratory microscope

(B) a physiological microscope

(©)

a scanning microscope

(D) an electron microscope

NOV -13211/11

42. fozeafEa g@o Uik <3ifad .

43.

(A) I FEU/TU0e Gl

(B) 9T Y=RUl/T9eedTeh Yool

(C) ¥ Y=U/9Ted J=lol

(D) 9« G=0/Ecd Jelol

qTdes IATHYA Yh1TThRLT STATd o

ThIeRiTthes ftheHeR TSard. Sl diaTTe

qAT FRITesa THIOMG YRR TRl eTeadl,

g foz f=ior 29, € e I oo

AR ?

(D) SOHRM HIHHIEHT
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44. Match the type of reinforcement

44. gt 19 g1 11 Fr= Siedn o 3
schedule with its definition :

Goe Hohad oalqe" I &l

List 1 List II
(Definition)  (Schedule) w1 o I
P. Reinforcement 1. Fixed ratio =) (VST HREANEE)
occurs after a .
B P. 3Ufash @M 1. feeR TR
set time period
Yoo B
Q. The organism 2. Fixed interval
is rewarded after Q. fdeh I 2. feer w1
is certain number aqg%w Shrare
of correct responses
Yoo Head

R. The organism is 3. Variable ratio

R. 7&& AifhadX 3. Reda
Sttarer geed faed TUIRR

rewarded after

every response

S.  Reinforcement 4. Continuous S. a1fafF=q ﬁjr%q'{d{ 4. TR Yoo
occurs after a reinforcement
Siaret gaed fHesd
varying number
of responses ’
Codes : (A) P2 Q1 R4 S-3

(A) P2 Q1 R4 S-3 (B) P-1 Q2 R-3 S4

B P1 Q2 R3 S4
(© P3 Q4 R2 S1
(© P3 Q4 R2 S-1

D) P4 Q3 R1 S2 D) P4 Q3 R1 S2

21 [P.T.O.



45. Which of the following scaling
method/swas/were NOT proposed by
L.L. Thurstone ?

46.

1.
2.
3.
4.
(A)
(B)
©)
(D)

Scalogram analysis
Paired comparison
Summated ratings

Equal appearing intervals
3 only

1 and 2 only

1 and 3 only

1, 3 and 4 only

Which of the following statements
are correct ?

1.

(A)
(B)
©)

(D)

Perceived speed of moving
object is underestimated when
tracked by eyes, than when eyes
remain stationery.

Staring at a moving pattern for
several seconds can produce
slower motion after effect in
opposite direction.

Biological motion can be
determined accurately with
point light displays, even by
motion blind patients.
Causality of motion is perceived
more accurately with longer
time lags or intervals between
two movements.

1, 2 and 3 only

2, 3 and 4 only

1, 3 and 4 only

1, 2 and 4 only

NOV -13211/11

45. GE@UR! SHIUI/RIVET AT TS Ta.

46.

TS,

o~ 0 o=

(A)
(B)
©)
(D)

& Al e/ fee TR ?
whonm oo
qm o

R ICA NI EECRE
Ul 3T® gt
3 T
19 2 %had
19 3 %

1,3 9 4 %

et U e @ emd 2

1.

4.

(A)
(B)
©)
(D)

e TR STHAM T Hole, 98]

freR sTqamTE HagATdeT U
1A

TRl hSThIdl BT IETahS
T ST Teld Ufee T I T
S fam, &t I e
I Fodel G 71ehd e, 3™
T qEe dige oge feqws=n ofeR
Sifoeh BodTe A9 3ieE I
I BOIS! I R J TS
R FEAG HRHHES AT
SIS E Cl

1, 2 3o 3 we

2,3 f 4

1,3 301 4 ®e

1, 2 A0 4 &
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47.

48.

For drawing a frequency

distribution, the steps followed are :

(A) tallies, frequencies, range of

scores, class interval

(B) class intervals, frequency,

tallies, range of scores

(C) frequency, range of scores, class

intervals, tallies

(D) range of scores, class intervals,

tallies, frequency

When a response is followed by
experiencing something pleasurable

it is called :

(A) positive reinforcement

(B) negative reinforcement

(C) punishment

(D) generalization

47.

48.

NOV -13211/11

aEadl  faaiur  RETEERE Eoie

W SN

(A) Wx3, IRAMREl, TUfoRaR, SR

(B) ok, SRARd, e, TUIfoRaR

(C) aRaRdr, TOfa&R, oM, W

(D) UfaER, o, Hes, SRATRA

o N N N

FfRIATISIIS SRl @G 3T Adl, deal

A 3T HEYda

(A) &9 9fdwe

(B) ®Uu gfawe

(C) fmam

(D) QMR
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49.

50.

Match the traditional descriptive
terms and brain structures from the

lists below :
List I List IT

(Traditional (Structures)

descriptive terms)
P. Telencephelon 1. Thalamus
Q. Diencephelon 2. Tectum
R. Mesencephelon 3. Cerebellum
S. Metencephelon 4. Cerebral
contex

Codes

(A) P-1 Q4 R-3 8S-2

Q-3
Q-2
Q-1
Which one of the following

techniques uses a radioactive

(B)
©)
(D)

P-2 R-1 S4

P-3 R4 S-1

P-4 R-2 S-3

substance to look at the functioning
of the brain ?

(A) EEG
(B) CT

(C) MRI
(D) PET

49.

50.

NOV -13211/11

Gole JUA G o TEA Siel

o gl 19 11 Fr=a1 e e 31t

@il Gehdd dM9%d 3O 9.

w1 w11

(SofToR | (ET=F)
P. %o 1. douy
Q TEE%IE 2. TR
R. #Wemamed 3. deEeq
S. WWEHEH 4. TS widay
Hehd :
(A) P11 Q4 R3 S2
B) P2 Q3 R1 S4
() P3 Q2 R4 S1
D) P4 Q1 R2 S3

Qe Hivd q5 fesfisfrs e

TR h&d HooAl fsha=n 31 id ?
(A) S5
(B) =t 2.

(C) T. R M.
(D) 9. % 4.
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